To be able to measure mass (1) MathShed

Starter:
Which one doesn’t belong?

Explain your answer fully.
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Activity 1:
Write down the measurement next to each of the scales below
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Activity 2: Activity 3:
Draw an arrow to show the measurement given next to each of the scales below. Write down the measurement next to each of the scales below
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Activity 4:

Draw an arrow to show the measurement given next to each of the scales below.

Activity 5:

Write down the measurement next to each of the scales below
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Activity 6:

Draw an arrow to show the measurement given next to each of the scales below.
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Activity 7:

How much does the boy weigh?

Explain your answer.
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Evaluation:

If the rollercoaster’s
sign says, “Riders
must weigh no more
than 50 kg”, | will be
OK to ride it.

Is Astrobee’s statement true or false?
Explain your answer.




